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Chief responsibility  of  the

principal is’

(A) Organize and administer the
guidance programmed

Provide leadership n

(B)

instructional plan
(C) Maintain school records
(D)

The

Handle discipline problems
function of

administration and management is:

(A) Instructional task

(B) Non-instructional task

(C) Both (A) & (B)

(D) None

The school headmaster is expected

to:

(A)

(B)

(€)

Prepare the budget

Hold duty meeting

Put into operation the course of
study

(D) All of above

The role of a teacher in a classroom
should be:

(A) A democratic leader
(B),Adneéuw

(C) A dictator

(D) None of the above
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5.

What is the most important role of a

teacher in a digital classroom?

(A) Operating technology in
distance learning mode

(B) Being a faciliator

(C) Monitoring the class

(D) Promoting critical thinking

What is the function of management?

(A) Planning

(B) Organizing

(C) Co-ordination

(D) All of above

Teacher is a of all activities of

teaching and learning who organizes

the educational activities of the

classroom as well as the school.

(A) Facilitator

(B) Agent

(C) Motivator

(D) Manager

What is the most important for a

teacher?

(A) To maintain discipline in class

(B) To be punctual in class

(C) To  remove difficulties  of

students

(D) To be good orator
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10.

11.

12.

Theoriginof EducationalManagement
as a field of study began in the:

(A) U.S.A
(B) U.K.

(C) India

(D) Russia

How often should SWOT analysis be
performed?

(A) Only when specific issues need
to be addressed

(B) At least once per year
(C) Only when the business starts
(D) Every 3-5 years

Which of the following SWOT
elements are internal factors for a
business?

(A) Strengths and Weaknesses

(B) Opportunities and Threats

(C) Strengths and opportunities
(D) Weaknesses and Threats

Who usually conducts a SWOT
analysis for a business?

(A)
(B)
(€)
(D)

Financial Institutions/Banks
Lawyers
Employees

Managers
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13 Which of the following is true about

14.

15.

16.

pbreparings a SWOT analysis?

{A) It should be focus on where the
organization is today, not where
it could be in the future.

(B) A SWOT analysis is objective

(C) It should be specific and avoid

grey areas

(D) It should be analyze the
organization only and ignore
the performance of competitors

What is TQM?

(A) Total Quality Maintenance

(B) Total Quality Management

(C) Total Quality Managers

(D) Total Quality Mitigation

Who is known as the father of TQM?

(A) Edward Demin

(B) Joseph Juran

(C) Philip Crosby

(D) Kaoru Ishikawa

Which of the following is a tangible

benefit of following TQM?

(A) We can't comment on employee

grievances

(B) No in

change employee

grievances
(©)
(D)

Increasein employee grievances

Reduction in employee

grievances
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The system approach

{A) Emphasizes the psSychologic al
and soCial aspects

(B) Emphasizes the technical
requirements of the organization
and its needs

(C) Encourages managers to view

the organization both as a
whoie and as part of a larger
environment

(D) All of above

18 Which s the component of
administrative process?
{A) Planning
(B) Organizing
(C) Direction
(D) All of these

19. Which is correct for Educational
Administration?
(A) Process of integrating efforts of

personne|
(B) Utilizing appropriate materials
(C) Promote effectively the
development of human qualities

(D) All of these

20. Which one is not a principle of good
time table?
(A) Flexibility
(B) Coordination of efforts
(C) Variety
(D) Ruthless Master
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21.

22.

23.

24,

of

the type

Which is not

administration:

(A) Authoritarian administration
(B) Instructional administration
(C) Laissez-fair administration

(D) Democratic administration
School Budget includes:

(A) Non development expenditure
(B) Development expenditure

(C) Both (A) & (B)

(D) None

The level of school administration
can best be judged through:

(A) Head teacher

(B) Beautiful building

(C) Learning outcomes

(D) Teacher students relations
Democratic type of administration
is:

(A) Individual worth

(B) Educational Policy

(C) Rules and regulations

(D) None of these
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School time table means
(A} School working hours
(B} Activities in school
(C} School controlling
(D) None of these
26. Which 'Pillar of TQM' recognizes that
product quality 1s a result of procesg
quality?
(A) Customer Focus
(B) Process Management
(C) Employee Empowerment
(D) Continuous Improvements
27. The major problem of making the
school management effective is:
(A) Low literacy rate
(B) High drop out rate
(C) Weak management
(D) None of these
28. Person who possesses qualities of
leadership is:
(A) Leader
(B) Officer
(C) Manager

(D) Administrator
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34.

35.

36.

Institutional Planning 1S also known
as

(A) Area Planning

{B) Grassroot Pianning

(C) Village Planning

(D) Local Planning

Efficient and effective planning
saves:

(A) Time

(B) Money

(C) Effort

(D) All the above

Good Planning requires:

(A)

(B) Good vision

Future objectives

(C) Perception and ability

(D) All the above

The 'Contigency Theory Model' by

Fred Fiedler is concerned with:

(A) Integrity of a leader in an
organization

(B) Vision of a leader in an
organization

(C) Work style of a leader in an
organization

(D) Effectiveness of a leader in an

organization
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37

38.

39.

adership
Which of the following 15 3 le

identified by Leithwood and Duke’
(1) Transformational
(1I) Immoral

(A) Oniy I1

(B) Oniy 1

(C) Both (1) & (1)

{D) Neither (I) nor (II)

Leadership is the function Of

knowing yours vision that is well
communicate, building trust among:
(A) Warren Bennis

(B) James V Downton

(C) John Gastii

(D) None of the above

Which of the following is a scope of
school administration? |
(A) Limited to classroom

management

(B) Relating to teaching training

only

(C) Vvarious administrative and
educational activities

(D) Limited to curriculum

development
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40.

41.

42.

43.

3114\A\2023

Which of the following is the primary 44

objective of school management? ~
(A) Earn maximum profit

(B) Providing quality education

(C) Employee satisfaction

(D) Increasing student enrolment
Which of the following & function of 41,
school management includes goals

and objectives?

(A) Planning

(B) Organizing

(C) Leadership

(D) Controlling

"Which of the following is not
a component of educational
management?

(A) Organization

(B) Administration

(C) Production

(D) Controlling

What the main spring is to watch,
the fly wheel to the machine or
the engine of the steamship, the
headmaster is to the school." Who
said?

(A) W.M. Ryburn

(B) P.C. Wren

(C) J1.B. Sears

(D) Jasvant Singh
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44,

45.

46.

47.

Which of the following is not a quality
of a good teacher?
(A) Ability to provide leadership

(B) Negative attitude towards

society
Tolerance
Experimental Approach

(€
(D)

Which of the following comes under
the University Grants Commission?
(A) Primary Education

(B) Secondary Education

(C) Higher Education

(D) All of the above

Which skill is not essential for

conducting a SWOT analysis in

education?

(A) Data analysis and interpretation

(B) Communication and team work

(C) Budget Planning and
management

(D) Critical thinking and probltem
solving

Which of the following is not a quality

of leadership?

(A) Decisiveness

(B) Emotional stability

(C) passive Listener

(D) Persuasiveness
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49.

50.

which of the following 15 the prirm
ary

D rpose of SWOT

{1ducat'0n7
A} To identify the Weakness of
0
students

(B) To evaluate the

financia|

performance of 3 schoo|
(C) Toassess the quality of teaching

material
(D) To evaluate the interna) and
external factors affecting the
educational institution
which of the following is not a
fundamental principle of T.Q.M. in
school management?
(A)
(8)
(9

Cost reduction

Employee involvement
Achieving excellence in school
activities |

Continuous

(D) improvement in
process and product

In the context of T.Q.M., who is the

'customer’ in school management?

(A) School Administratior

(B) Teachers and staff

(C) Students and parents

(D) All of the above
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51.

52.

53.

54.

Which of the following is not a
component of the system approach?
(A) Teacher

(B) Student

(C) Curriculum

(D) Parents

In the context of school management,
a system can be defined as:

(A) group of Uﬂre‘atEd

As a
processes
(B) As a interrelated and interdepen-
dent components

(C) Asasingle hierarchical structure
(D)

Which of the following phase of the

As isolated processes.

system approach, the objectives of
the school are determined?

(A) Input

(B) Output

(C) Process

(D) Feedback

Who is the father of Administrative
management?

(A) Keith Devis

(B)
(C) Luther Gulick

Henri Feyol

(D) L.D. White
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37,

Who among the followmg gave
'POSDCORR'’ formula»
(A) Henri Feyo|

(B) I.K. Davies

(C) Luthar Gulick

(D) Robert Gagne
Which of the following

is not a

characteristics  of educationa
na

administration?

(A) Educational administration is a

integrated process

(B) Educational administration is a
human process

(C) The form of educational
administration is always
dynamic

(D) The form of educational
administration is always
centralized

In a democratic educational

administration, who is often involve
in the decision making process?

(A)
(B)
(C)
(D)

Administrator
Teacher and principal
Management

Administrator, Teacher, Student,

Parents
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58. Which of the following is not a

5S.

60.

authoritarian

characteristic of

educational of administration?
(A) Centralized decision

and inclusive

(B) Open
communication

(C) Rigid and inflexible policies

(D) None of the above

Which of the following principle

emphasizes that authority should

flow from top to bottom in a

hierarchy?

(A) Decentralized Administration

(B) Centralized Administration

(C) Autonomous Administration

(D) Accountability

of educational

In  which

type
administration do teachers and
students actively participate in
decision making process?

(A) Autocratic Administration

(B) Laissez faire Administration

(C) Participatory Administration

(D) Hierarchical Administration
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b3.

which of the foliowing is an obje
| Ctive
of educational administration'-’

(A) To promote the jop Satisfact;
lon

of teachers

(B) Strict enforcement of Fules ang
an
regulations
(C) To implement standardized
curriculum
(D) To ensure the efficient
and effective operation of

educational institutions

which of the following is not a

characteristic of supervision?

(A) Supervision is based on creative
leadership

(B) Supervision is based on sense
of responsibility

(C) The area of supervision is

limited

(D) Supervision is systematic and

well planned
Which  principle of educational
administration emphasize the
importance  of  authority and

responsibility?

(A) Autonomy

(B) Decentralisation
(C) Accountability
(D) Equity
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Which of the following is a principle
of educational planning?

(A) The process of
planning should be flexible
e continuous

educational

These should b
the educational

(B)

evaluation of
planning

The educational plan should
be in consonance with the

objectives
(D) All of the above
Which of the following is not the

reason for lack of planning in

education?

(A) Lack of leadership

(B) Lack of social responsibility
(C)
(D)
Educational planning is required:

Lack of cooperation

Lack of political pressure

(A) In educational research

(B) In improvement of examination
(C) Improvement in in-service
training

(D) All of the above

67. "The leader not only influence his
group but is also influenced by it."
Who said?

(A) M.P. Follett

(B) Chester Bernard

(C) Terry

(D) Harrold Koontz
3114\A\2023

®4.

65,

66,

67.

[20]

Prafifaa & @ a7 @ e FRAS 3

Regra &>
(A) ﬁf\wﬁtﬁaﬁﬁmaﬂr’iﬁ’fﬁ

uifee
(B) Mg Frvem i & FRE

T A1 e

(C) dMfirp P 32wdl & HOU &1
arfze

(D) 3Iufes o

Praffag 3 o @ fren & FAEA &

3T B HROT A& &7

(A) g & 3HE

(B) wmifies Iaveriaed &1 3Hd
(C) |&am &1 391E

(P) TGS aara I NG
s Frits & sravadar &-
(A) @érs e 8§

(B) wien goR A

(C) dardrei FfTemT Jur J

() 39 |t

"1 T B T TR B quifad axar
g2

(A) RO Bioe

(B) URX &8

(C) 2

(D) RS FTH



hich of the fol .
- W lowing g not a bag;.

69-

70.

71.

|jeadership style?

(A) Autocratic style

(8) Democratic style

(C) Laissez faire style

(D) Supportive style

"Leaders are born ang are not
made." It is related to which theory
of leadership?

(A) Behavioural Theory

(B) Trait Theory

(C) Situational Theory

(D) None of the above

According to which theory leadership
is multi-dimensional?

(A) Situational Theory

(8) Behavioural Theory

(C) Managerial Grid Theory

(D) Greatman Theory

Which of the foliowing is a
characteristic of a transformational
leader?

Maintaining the status quo
Avoiding change

Inspiring and motivating
followers to achieve outcomes

(D) Micromanaging every task
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The duty of an ideal headmaster is:
(A) Institutional administration

(B) School budget

(C) Maintaining discipline

(D) All ot the above

Which of the following is the role of a

teacher as a facilitator?

information to

(A) Dictating

students
(B) Guiding students in the learning
process
(C) Punishing students for mistakes
(D) Focusing solely on text book

based learning

Which of the following is not

a characteristic of educational

management?

(A) Management is a universal
activity

(B) Management is a purposeful

activity

(C) Management is a static activity

Management is a social activity

Which is the regulatory body for

teacher education in India?

(A) U.G.C.

(B) N.C.T.E.

(C) N.CER.T

(D) C.B.S.E
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